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Interactive Question ®

‘Which of the mo:o.,ism diagrams most accurately depicts
the shape of Earth's orbit around the Sun?




HE@EQ?@ Question

A spaceship is traveling to the moon. At what point

is it beyond the pull of the earth’ s gravity? The mass of
the moon is 1/80 the mass of the earth, and the surface
gravity of the moon is 1/6 that of the earth.

A) When it gets out of the atmosphere.

B) When it is half-way there. |

C) When it is 5/6 of the way there.

D) When it is 79/80 of the way there.

‘E) It is never beyond the pull of earth’ s gravity.




HE@SQZ@ Question

_ /ﬁzor is m:osmwa E@ mmﬁw_m pull on the Zoos
Moon's pull on the Earth?
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| >v The mmﬁrw pull on the !
B) The Moon’s pull 059@ m» %
C) They are the same
D) It depends on other factors
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wao_u_QB (a) W # m@ ar a direction of the
gravitatior &,moH.om on E@ ; | 1 the Earth? (b) What
is the magnitude and m:woso om ﬁ € E.m<:mﬁo=& force

on the Earth from the Moon?
.,\wgﬂu 0%.. ugA.
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If the distance to the n 1000 ved, then the force of
attraction between the eartk &i Boow would be

585220 O estior

A) quartered.
B) halved.

C) unchanged
D) doubled.
E) quadrupled.



Three objects 9:3 equal mast ses are located as shown.
What is the a:.woﬁos of ?w total force acting on %m obj ect
labeled m,?
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A) To the left.

B) To the right.
C) The forces cancel such the
D) It is impossible to detert

t the total force 1s Zero.




